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 

 

    



     

 ;

     

      

;



 

  

 
 

 

 
  




 
   

 

 

   
     

  

  


  


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Answers

 








 


  


  


   


  

 
   
 


 


  


 


     




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






 



    = 90 × 18 × 4.2 × 10

;









   
     

   

    ;











 
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







    

  







   






 

 





 
   

 

      
  

  

 
 

    
 

;


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 



 ;

 

    ;

  
o o
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

        

  

  

   

 

       o o


o o 

  

o

o

   
o o
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

  

 



 

     

 

   
    

   

 

  

  

 

 

      

  

   
 

    
 

  
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  
  


    

   
 

   
 



  

   
 

   
 

© N
CERT

not
 to

 b
e r

ep
ubl

ish
ed



Exemplar Problems–Physics

 

  





   

 
    

 


      

 
    
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     


    

      




 
 

 

 


   

   

 



  

     o

 
 

      
 

 

  

 

 

         
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      

   

 

  
  

   
  

 

 


 



 




 
  

 



    


       







  


 
     

  

   

     
  

    

 
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    

  

  



  

 

 
    



 
 

 

 

 



     
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      

 
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 




 

  


  




  

  

   

  






  


 
  





 

   


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

 



 

  

    



 

 

   

 

   






   
  

 

 



 Q

 
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


   

 

   



  

     




  



  



    
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



  
 



          


       

 







  
   



  



        




© N
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      


       
        



   



 









  
 









    





  

   

 

  

 

   
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    

   


 

 


 

  




   


 

    


 

  
  

   

   

    

   

      


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



  
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+

 

 



     

 

 

 

;    :









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     

     

       

         

          

    



      



      

 

 








 
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



 





 





 

   




     

   


    


       

 

   

 &

   

     &
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 
 

   
&&&

  &&

 &&

 &&

 

 





  

 

 

  

 

 

   

  


 



 
  


   


 



 
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 

   

  

  

 
 

    

     
;




;

 ;  ;

 



 

 ;

  
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

  





 
 

 

 
    

  
   

  
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 

 
    

 

 
   




 



   
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